
 

Chapter6Homeworkkey

GI
3 Calculate the molar mass for each

of the following
Goodwarm up Review question

4 Ta Py 4 30.97 123EEg8g1mole l23i9glmde

4
H 2x 1.008 2 Olle Tb H2O o 1 16.400 16.0 18.02gemde

l8iolf6gglmo1e
4 Ic CaNOzz Ca 1 40.08 40OE 166 loglmole

at 2x 141401 28 OZ
O 6 x 16.400 98.00

166 10
d 0 302t

2 42,01 44 2516ae 60.05 160.0591Mt

e CzHzzQ 12 12.01 t 22 1.008 t 11
16.00 342.2962342.3gloriole



6.28calculate the following to fourSignificantfigures
a Thepercentcompositionof ammonia nuts

Part toowhole

at N xioo LY.jo oogxcoo 82.24762
Nuts 82.257

A 3
nu

xioo IoYf3 ooq l7i75fg27y29o
17.754

b Thepercentcompositionofphotographicfixer Hypo
Naz5203
make it easy Calcmolarmass 1st
2x22.99 t Z x 3207 t 3 x16.00 158.12glm.de

Ha aN x too 2,52,729944too 29.082glued

s nE too 7 3.7204 100 40.547

0 1 xioo 3fg.Y.ggymdxioo 130.369
0 1



C Thepercent of calcium ion in CazCPODz

zt 21
Cae 34 00

CazPO4z
T3Eo.itEEso oo

oo I38.76 cat

10 Determine thepercent ammonia MHz in

Coconuts Clz to 3Sigfigs µHz 14.01 3 1.008me 17,0314glmotetoNHS
Xiao CocatADectsNH3 Cowlitz Cl3 Co 1 58.93 58.93

at 6 24.01 84.06
6 17,03491mA 18.144

X 100 H 18 1.008
Ce 3 35.45

106 35267.484gInde
267.4814gInde

38.2499388 To

38.2NHTf
Determine thepercent water in CusoyosHzo to 3sigfigs.mn

H2O 2 1,008116.00Part
whole

100 18.016glm.de

5h20 woo cusoy.SIz07oHz0sztzO 63.55
Cu 1 63.55
S Ix 32.07 32.07
O 9 16.00 144.00

H2O yoo He 10 1.008 1008249.70glmol 249.70gInde
36.0175290

90 36.1 7



I 2 Determine the empiricalformulas for compounds with the
followingpercentcompositions s

mass

a 15.8 Carbon 84.2 5 MIIIbFIeman
unit til whole

C S
15.8 84.2 AssumeKogSample

mass 15.8g 84.2g

mole 15.8gx 84.2gx

1.315570358 2.625506704

divide 2.625506704
bySmall

1.315570358
1 315570358 1.315570358
I 2

whole s so no need to multiply

C Sz EmpericolaCSz



b 40.090C 6.7 hydrogen 533 oxygen
d little faster this time

C it o
53.340.0 6.7

mass 40.0g 6.7g 53.3g
Imoleomolec Imdett 53,3g1moles 40.0gx 674 16.00g

Smalt
3.330557868mi 6.646825397mA 3.33125000not

Divide 2 I
bySmall I

C H2O

Emperical Formula CHZO



I 5 Dichloroethane a compoundthat is oftenusedfordry
cleaning containscarbon hydrogen and Chlorine
It has a molar mass of 99glmoleo Analysis of a Sample
shows it contains 24.3 Carbon and 4.1 hydrogen
what is it's molecular formula

C its Cl
100 4 I 24.3 71.6224.3 4.1
71.6g

mass 24.3g 4.1g

mole 24.3gx 4 Igx
71.6g xEiga

12.01g small
4.067460317 2.019746121

2.0233139

Idivide 2
bySmall

CHA
I Z l

Emperical Formula CHzCl

Molarmass Emperical C 1 12.07 12.01
A 2x 1.008 2.016

CL l x 35.45 35.4549747691mole

molecularformula Xempericalformula
molecularmolarmass x emperical molarmass

X Molecularmolarmass
emperies 949,94714 2

molecularformula 2x emperical 2 Caza

a
we



6.3

22 Determine the molarity for each of the following
solutions

a 0.444 mot of Cock in 0.654L of Solution

molarity Massdot
L Solution
3 3

0.444motCock
o.gs Oo678zg899mols z

3
0.679 mols L Cock
1 1

b 0.515g of HzSOy in 1.00L Solution

Roadmap need molarmass 112504

gitzsoy Mole42504 It 2 1.008 2.016

S 1 32.07 32.07
L Sed O 4 16.00 64100

98 EE

98.09g1mde3o5i5gHzSO4 04 0.0052 50028moya98.09gHzS0yI Lsd 4
o.oos zs mob.lt2S04T



C 0.2074 g of Calciumhydroxide Calotte in

40.00mL of Solution

RoadMapgCatoesCaCoDzcanbe.done
in one equation

mLSol L Sol or in 2 seperatesteps
I Like 1step butthere is
no rightor wrongwaythrough

it

molarmass Cacate

Ca l x 40.08 40.08
O 2x 16.00

32.00
2 016

it 2x 1.008 747 74.10glmote
Exact 4

o 20474gC.aotDE.im oHk 0.069974,3009447
40.0 74 to Dz l L Sol

4 4 o.o6997mo1s Ca t

2 Considerthisquestion what is themass of thesolute in 0.500L

of 0.300 At glucose CGH206 usedforintravenousinjection

a outline the stepsto solve theproblem
g motor

mass motormass calfzQ
RoadMapf 6 12.01 12 1.008t
L Sed molesglucose S Glucose 6 16,00 180,16glmole

molarity

b Answer thequestion
z 3

3 o 300molescaltzQ 9414206 27,024gCultizQ0.500L Sol Tsoi ImolecultizQ Ig
27 ogcaH.ec



28 Consider thisquestion what is themolarity of Khan04
in a solution of 0 0908g Kian04 in 0.500L Solution

a outline thestepsmolarmas.sip KMnoy

g Kohn04 mole Khan04 K l x 39 10 39.10
ran l x 54.94 54.94

Sol
O 4 x 16.00 64.00

158.04glmol
b Solve theproblem

3
o 0908gfkmnot x YK.MG O 0011419,0762moistL
O 500L Sd 158.04gKMnOy

3 5 KMn
0 00115mask1

33 What volume of a 1.00 r1 Fe NO3 3 Solution can be
diluted to prepare 1.00L of a solution with a

concentration of o 250 RI
C 1.00TI FeNO3 z Cy Czk
il y CHI
Cz o 250 RI C

2
y I



34 If 0 1718 L of o 3556 EtCzkOHsolution is diluted
to a concentration of o 1222 ok what is the volume

of theresulting solution

C O 355619 C Y CzVz
y O 1718 L vz
Cj O 1222Me Cz
YE y o 35456M 60 I 8

0 12422M

Vz O 4999352882 L

Vz o 4999 L solution

35J If 4.12L of a 0.850 rod HzPQ solution is to be
diluted to a volume of lo ooh what is the concentration
of the resulting solution

C 0.850 Me C Vi Gta
V 4,12 L Cz it

7Cz o 62 z 3 a
Vz 10.00 L

c 0.85019 4.124
IO 4004

Cz 0 35,042EhHzP0y

Cz 0.350 ItHzPOy



4 2 what volume of a O 20 if KzSOysolution Contains

57g of KzSOy
Roadmap

g kzSQ moleskzSOy L kzS0y

molar mass KzS0y 2x 39 IO t 32.07 t 4 16.00 174 27glmole
2 l L solution
57gkzSQ x ofT.zom.ie soy 1.6435393355L Solution

5 Z

fl 6Lsowtionkz.SC

6.4457
what mass of a 4.00 NaOHsolutionby mass contains
15OgHaat

Part co whenyou use alwaywrite thepartyco
partwhole t.ws 4.00 bymass 4009100gwhole

Roadmapy
gNaOH g solution

15.0gNaOH x qfoosonof.im g



49 The level of mercury in a stream was suspectedto be above

the minimumconsideredsafe 1partperbillionbymass An
Given

analysis indicated that theconcentrate.gg was 0.68parts
perbillion.dezasume a density of 1.0g1mL and calculate
the molarity ofmercury in the stream

molarity molessolutes ppb Pw x 109
L Sol

RoadMap g
motormass

ppb
molaity

density

Difficult roadmaptobuild but once you see
it afew times it'snot too hard

2 Exact
2

s E
4

3.3489830508 x 109m01Hg

13.4xio9molst.LA



52 copper iodide cut is often added to table
salt as adietary source of iodine Howmany
moles of CUI are contained in 1.00lb

of table salt containing 0.0100 Cut by mass

MolarMass GI 63.55 126.9
190.4glmobeCute

Roadmap
0A lbs salt lbs Cui g Cut moles cut

or

lbsSalt g salt g cut
moles cut

3 4 1moleCui
3 0.0100lbsCUI 453.696 cuI
1.00lbsSalt football 1 lbs CUI y

2.382352941 10
4molesCutto

2.38 104molesCut1
453.6gSalt gCuI uI

1.00lbsSalt Tissot ioogs.at 90.4gCuI

2.38 x 10
4moles Cut1

works because by mass can be any units
of mass

0 0100 lbs CUI
w

O 0100gCut

100 lbs CUI 100g Cuts

Ratio Holdsregardless of units as long as mass


